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19 8 f(0) =423 - 522 = 18x +c » Heb o ¥ - & fx) BRBL x—2 0% - 6R 33 -
@) x+1 2 f( (IR 2 SIRRITIEE -
(b) FAEFEHIZ f) =0 FIAMISRERE - (RETHE? RFRIIEE -
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12. B f()=dx(x+)2+ax+b » Ebh a R b ABEH - B x-3 K f(x) HRAAX - &
f(x) BBl x+2 B BREA 2b6+165 -

(@ Xakb- (3 41)

b FAEBFR f0)=0 AEL—HFKER- FEEEE? SABRROEX -
(4 53)
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1. (@) k=-5

(b)

DSE 2014
7. (@)
(b)

f(3)=0
3-2)*B+h)-5=0
h=2

f(x)=0
(x-2)(x-2)(x+2)-5=0
X -2x* —4x+3=0
(x-3)(x* +x-1)=0

—124/5
2
—1+J§
2

Thus, the claim is disagreed.

x=3 or x=

Note that both and

—1-45
2

f(2) =-33
4(2)° -5(2)* —18(2)+¢=-33
c=-9

f(-1)
=4(-1)* -5(-1)* - 18(=1) -9
=0
Thus, x+1 isafactor of f(x) .

f(x)=0

4x° —5x* —~18x-9=0

(x+1)(4x> -9x-9)=0
(x+1D(x—-3)(4x+3)=0

x=-1, x=3 or x=—
4

Note that -1 , 3 and %3 are rational numbers.

Thus, the claim is agreed.

are not integers.
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12. (2)

(b)

f(3)=0

43)3+1)* +a(3)+b=0
3a+b=-192

£(=2) =2b+165
4(=2)(=2+1)? +a(-2)+b=2b+165
2a+b=-173

KiR% » 98 a=-19 Jk b=-135 -

f(x)=0
4x(x+1)2-19x-135=0
4x° +8x* -15x-135=0
(x-3)(4x* +20x +45)=0
x=3 3 4x>+20x+45=0

20% — 4(4)(45)
=-320
<0

Prit o 552 4x? +20x+45=0 A ER -

HE 3 AZEAEE -
Rt » FRIEXEM -
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Zf(x) =3x3 —7x* + kx— 8 Hf k B—EE - DAfx) = (x—2)(ax?+bx+c) > Hffa~b
Jc ¥Ry

(@ Ka-bkce(497)

(b) EANEMITIEX) = OFTAIVIRIE HER - IKEEFEE ? SRR EZE - 3 7)
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14.

3 p(x)=6x'+7x +ax* +bx+c » HP a~ b R cHEEH - & p>x) B x+2 B
RE p(x) BREA x-2 B> IS WEGREHESE - BX p(x)E(lx2+5x+8)(2x2+mx+n) ,
Hep I~ m B nGhHEY -

@ XKI>mPBn- (5 73)
(b) FHE px)=0 AL/UEEMR ? ABRIROEEX - (543
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12. (1) WHEE X° MOHEUEMSE TH o=3 R c=4 -

WRE (r-2)0x" +bx+d) MRAAP * SEMD 6-6 -

FEELE X7 IRy SIH b-6=-7 -
I » oJ{§ bw-l ¢

IM
1A

TA+IA

WE x-2 B f(x) AR -
f(2)=0
32 -72) +2k~8=0
k=6
f(x)
=32 -7x* +6x-8
=(x—-2)(3x* ~x+4)
Rt + T a=3 + b=-1 B c=4 -

M

1A+1A+1A

® A
=(~1)? -4(3X4)
=-47
<0
Bt » HHE 3% -xedw0 HIEWHIR -
Bt FEIRBERE -
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14. (a) EE p(2)=152+4a+2b+c B p(-2)=40+4a-2b+c »
B pQ)=p(-2) » T® b=-28 -

Wi < ke T8 =3 -

HEE G +5x+8)2x% +mx+n) WEHRAD ¥ B x (K

SHlR 3m+10 FE 8m+5n -
it 9118 3m+10=7 F 8m+5n=-28 -
Kk » oJ8 m=-1 B n=—4 -

() p(x)=0
Bx? +5x+8)(2x* -x-4)=0 (% (a)
3x? +5x+8=0 B 2x*-x-4=0

57 —4(3)(8)
=-71
<0

#t 0 =8 3’ +5x+8=0 BEHWIE -

(-1)? —4(2)(—4)
=33
>0

BBl » —RHE 2¢% -x-4=0 7 2 ERIR -

HE » HE X +5x+8)2x? -x-4)=0 7 2 {EXIH -
Hit» 7% p(x)=0 7 2 EWIR -
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I+,

B OF(x) =6 -2 ~d6x+34 « @ flx) BL 27%1arid B BRBREANE 3247
B obxte »r Xph g b B c BIBYE .

(@) Ha- (3 i)
) & el HOXFALEERE g B 2 var+d 5 BEA brie o

0 B f)-p(y) TE 2itaxed Eh

(M) FAEBIE fx)-gx=0 HFEMELLEY - TRESEE? Sk

HIEE -
(5 4
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11, & px) A=XREWHR - & px) ML -1 B B8E 50 - & p(x) BBl x42
B 8BS -52 ¢ B px) TE 2:7+9x+14 R

@ R¥ px) BEL 27+9x+14 BFHE - (34
b) HE pkx)=0 EHEEZR? AWB{RAEE (34
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14. (a)

()
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11. (a)

(b)

BWE f(x)=2x"+ax+4)3x+T)+bx+c -
gtk T f(x)=6x>+3ax’+12x+14x? +Tax +28+bx+c -
HE®E f(x)=6x-13x*-46x+34 -+ '

ik o148 da+14=-13 -
REE® TS a=-9 -

(i) ¥ g(x)=k@x*+ax+4)+bx+c » 3Hh k H—HH -
f(x)-g(x)
=(2x% +ax+4)(Bx+T)~k(2x* +ax+4)
=(2x* +ax+4)3x+7-k)
Bt > f(x)—g(x) T 2x"+ax+4 Bk

(i) f(x)-g(x)=0
(2x* -9x+4)(3x+T~k)=0 (%4 (a) & (b)i))
2x-Dx-9)Bx+7-k)=0
WE o BUEFREOE -

it HE f(x)-g(x)=0 FEMENRYBESN -
Rt > FREXES -

Let ax+b& be the required quotient,
Then, we have p(x) = (ax +5)(2x*+9x+14) .

Note that p(1)=50 and p(-2)=-52 .

Hence, we have (a(1)+b5)(2(1)*+9(1) +14) =50 and
(a(=2) +b)(2(-2)*+9(-2) +14) = =52 .

So,wehave a+b=2 and -2a+b=-13 .

Solving, we have a=5 and b=-3 .
Thus, the required quotient is Sx ~3 .

p(x)=0
(5x~3)(2x*+9x+14) =0 (by @)
5x-3=0 or 2x’+9x+14=0

92— 4(2)(14)

=-31

<0

So, the quadratic equation 2x?+9x+14=0 does not have real roos.

Note that -2- is a rational root of p(x)=0 .

Thus, the equation p(x)=0 has | rational root.
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10. (@ i 5O +12x2-9x—-7 [&1) xP+2x-

(b)y % g(x}=(5x3+12.r1—9.t—7)—(a.r+b) .

2 br 1A
x*+2x-3 #r
(i) “H o a B b AYfHE -

(Gi) e g(x0=0

CE 2011

3 gt -

et a R b HBH Y

13. (8 K kH9MEES x-2 5 k21 +24x-4 R o

®) B4R p=15x"-63x+72 WEEKE - 0 BE— ﬁlﬁl’ﬁlll]ﬁiﬂﬁl_lﬁﬂi

SHIRE Q F x Wk y MRER -

YA

y=15x2 =63x+72

=WV

() | (m,0) 8 PHLE. I\ m REHF OPOR WHH -

(i) Q REF=MAFMLEESRSK OPOR WHEE 12 7 HERRNE .

Eo

L_':.

R

(247)

g(x) nf

4757)

21

P KR

(55)






